Issue 1:

Text as it appears in LO Draw:
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Here there is an error in specific Arabic letters that are actually a combination of 2 letters:

These are those highlighted in the following image showing text in original document.
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The letters are:

lam-alef
lam-hamza

Those are a connected-representation of 2 letters. When they come in this order “lam-alef” or “lam-
hamza” its rendering will be different.

These are not reversed and kept as is. The other letters in the word are done properly.



Issue 2

The single word is not kept in 1 text block/box/container/wrapper (not sure what to name this — I will
refer to it as block).

Please note below text block as it appears in LO Draw:
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This is the same text block after decreasing font size to separate overlapping blocks:
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The red boxes include One word that is separated into 2 blocks. Not sure why?

NB. I tried to change the font as well. Both issues are not related to a font issue.



